
C. VERBATIN RESPONSES

Question 1

In your opinion, what i. the m05t important problem faci.ng Canada 
today?

010 n~o t -- Unemploymenft -- a lot of people out of work.

=ýetoo many out of work. I UneIUplQyIUnt. I Uneupl.oyment -

we need more jobs for peopl.e not vorking. They are living off

unemployment insurance. I Unemployiient -- in soflW sectors of Canada,

people don't have the employiiiit they sbould have 1.1k. in parts of

Eastern and Westernl Canada. IUnemployment -is stiiI. far too high not

enougI1 jobs being createdo I Lnempl.oyulent -- people out of wok I Work

shortage -- there are not eflou8g jobs ini the market. I Employuient - it

is in such a bad condition because there are too many women in the work

force. IUneIployment - peopl.e out of work -- the rnumber of people
I nt enouizh work. / I feel that a major issaue is that


